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Class: XI Science          Duration: 1 Hour 

Date: 30/07/2024          Max. Marks: 25 

Admission Number: __________               Roll number: ____ 

 

General Instructions: 

Question 1 to 5 carries ONE mark each. Questions 6 to 9 carries TWO marks each. Questions 10 to 

13 carries THREE marks each. 

 

1 If X ={8n − 7𝑛 − 1: 𝑛 ∈ 𝑁} and Y ={49𝑛 − 49: 𝑛 ∈ 𝑁}, Then 

 (A) X⊂Y  (B) Y ⊂X   (C) X=Y   (D) X∩Y =∅ 

2 If P ⊆ M, then which of the following set represents P∩(P∪M)? 

 (A) P       (B) M    (C) P∪M  (D) None of these 

3 If R is a relation on a finite set having n elements, then the number of relations on A is 

 (A) 2n   (B) 2nxn   (C) n2   (D) nn 

4 If f(x) =64x3+
1

𝑥3
 and 𝛼, 𝛽 𝑎𝑟𝑒 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 𝑜𝑓 4𝑥 +  

1

𝑥
 =3, then, 

 (A) f(𝛼) =f(𝛽) =  −9 (B) ) f(𝛼) =f(𝛽) = 63 (C)  f(𝛼)≠f(𝛽)        (D) None of these 

Assertion and Reasoning questions: In the following two questions, a statement of Assertion 

(A) is followed by a statement of Reason (R). Choose the correct answer out of the following 

choices. 

(A) Both A and R are true and R is the correct explanation of A. 

(B) Both A and R are true and R is not the correct explanation of A. 

(C) A is true but R is false. 

(D) A is false but R is true. 

 

5 Assertion (A): If f(x) =x4+8x2-5 is an even function 

 Reason (R):    A function f(x) is said to be an even function if f (-x) = -f(x). 

 

6 Represent the given set in roster form B ={𝑥: 𝑥 𝑖𝑠 𝑎 𝑝𝑒𝑟𝑓𝑒𝑐𝑡 𝑐𝑢𝑏𝑒 𝑎𝑛𝑑 25 < 𝑥 < 343}. 

7 Represent the union of the following two sets by Venn diagram A={𝑎, 𝑏, 𝑐, 𝑒, 𝑓}, and 

 B={𝑙, 𝑚, 𝑛, 𝑒, 𝑏}. 

8 If f(x) =2x-1 and g(x) = x3 be real functions, find (f+g) (3). 

9 Find the domain of the function f(x) =
𝑥+1

𝑥−2
. 
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10 Write the following as interval and also represent on real line{𝑥: 𝑥 ∈ 𝑅, −3 < 𝑥 ≤ 7}. 

11 Let A= {𝐴𝑙𝑙 𝑝𝑟𝑖𝑚𝑒 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑙𝑒𝑠𝑠 𝑡ℎ𝑎𝑛 10} and  

B={𝐴𝑙𝑙 𝑜𝑑𝑑 𝑛𝑎𝑡𝑢𝑟𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑙𝑒𝑠𝑠 𝑡ℎ𝑎𝑛 10}. Find A-(A∩B). 

12 Find f(x) +f (-x), if f(x) = 
3𝑥

2𝑥+5
. 

13 Find the range of the function: f(x) = 
𝑥2+2

𝑥2+1
, x∈R. 

                                        

 

*** 


